o
A & ol & AF Y E A A
P019EE 20l &F 2 utHal
SH: HAY
& : 200 Kl9l4
B o: o200 FARKASY
8 1212 NBE4Y (619 &2
SN-F-B-F-S 0 &k o4 &1 & 0f o o HR 2
S| 14,292,410 11,321,924 2,970,486
HA 14,292,410 11,321,924 2,970,486
200 M2l =< 13,622,410 10,830,924 2,791,486
210 ZAE KISl 4 13,163,880 10,564,924 2,598,956
212 B2 4 24,933 13,508 11,430
212-08 JIEIAL B R 24,938 13,508 1,430
OUMABISAZAANL 24 AB24Y
21,528,0008 * 14 21,528
OSHA+WUNSAL IALHL STABS Y
3,410,008 * 14! 3,410
213 £424¢ 12,140,750 9,711,416 2,429,334
213-02 M I Ml S S B0} 42 9,900,000 9,200,000 700,000
OMHIIHEEE B4 7,600,000,0008 * 14} 7,600,000
OSASFHIIZ YREE(H) B+
1,300,000,0002! * 14! 1,300,000
OBSFY SASRHIIS RFID Hel+48 4+
1,000,000,0008! * 14! 1,000,000
213-03 ME S4B+ 1,700,000 0 1,700,000
OVWEESELEN NERE B2
1,580,000,0002! * 14! 1,580,000
OMEEE EPREES ¢ 120,000,00081 * 14 120,000
213-04 JIEt+ %R 540,750 511,416 29,334
OUEHIIE Mel+%+2 540,750,00020 * 14! 540,750
214 A4l 998,192 840,000 158,192
214-01 AP F & 449 998, 192 840,000 158, 192
AMABISAZAAIL HLTO| &
645,392,008 * 14 645,392
AMHAHIISA2AIL HABO &
232,800,0008! * 14! 232,800
OSHAUWUHKIGAIL QIAeEL MY £
120,000,0008 * 14! 120,000
220 2 AIE I 914 458,530 266,000 192,530
223 HESHIUHEE 215,000 215,000 0
223-01 HF 3 70,000 70,000 0
OHDIZREY S Y 1A 70,000,000 * 14! 70,000
203-05 DEHE 145,000 145,000 0
OHJIZHY S <i¢ D2 145,000,00020 * 14! 145,000
224 JIEt %Yl 243,530 51,000 192,530
224-06 192l 4 ¢l 243,530 51,000 192,530




SM: HAl
B 200 MOIAY
B 200 YAEAN LAY
8 : 224 JIEtEY (£l & &
SRR ol & FSTEL= PN ET HIDE 2
AMAMEINSAAANL HABEHIY 2Y42
7,000,000& * 1Al 7,000
OSAM3A & BEASH MIABE  46,000,0008 * 14 46,000
OYXHIIS 082S 282 +¥
219,0002! * 580 * 1.5 190,530
500 2X3 670,000 491,000 179,000
510 2L x2S 510,000 373,000 137,000
511 2DEE3S 510,000 373,000 137,000
511-01 2 DBX3 510,000 373,000 137,000
OSZHEIY +H243 10,000,00024 10,000
OHHAWUIES ZHAL 500,000, 0002 500,000
520 Al - THIEE2S 160,000 118,000 42,000
521 Al - SHIEE2S 160,000 118,000 42,000
521-01 Al - SHIEX S S 160,000 118,000 42,000
OSZHHY +H243 10,000, 000% 10,000
OFEAUUKES THAY 150,000, 0002 150,000




O]l & AF & & Ml A

20199 & =0 &b LS A A

A A0
2

. 2eCA XA
Sl S MBHA IR CEEEED
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= A7 34,079,642 35,493,339 N 1,413,697
= 510,000
= 160,000
Al 33,409,642
22 A =4 32,933,475 34,330, 128 N 1,396,653
= 510,000
o= 160,000
Al 32,263,475
MAESH MEEIA IR 24,912,899 27,404,740 AN2,491, 841
= 10,000
o 10,000
Al 24,892,899
SEMHH Y =842 I 130,000 130,000 0
= 10,000
= 10,000
Al 110,000
301 et A= 130,000 130,000 0
= 10,000
& 10,000
Al 110,000
12 JIEtE2 &= 130,000 130,000 0
ZHHYE =142 130,000
= 10,000
& 10,000
Al 110,000
AMEMD] 2] 19,842,230 23,438,790 A 3,596,560
201 gEt24y| 1,139,986 1,047,610 92,376
01 AP 22| H| 1,112,266 1,020,286 91,980
OMAHADIESEM S5 L SASMY I SEA
HSHEE DA EXTE OHZE 50008 + 5000 2,500
OMHDIEHMEE HE 824,800
—-54 332 * 500,0000H 16,500
- 104 412 = 4,000, 0000H4 164,000
- 204 58& * 6,000,0000H4 348,000
- 504 124 * 800, 0000H 99,200
- 1004 219€ * 900,0000H 197,100
OMAHIIZSS M OrCH M & 72,000
—-50¢ 400& ~ 180,0000H 72,000
OMYJIESHH=E HI2E 2N
7.5€ « 12,200, 00004 91,500
O222 Mg 7¢ 118& * 100, 0000H 11,800
O3 MYIss U (AL E)
2192 = 300,0000H 65,700
OMdlD| 21 RoAH ==
108,000 * 12& 1,296




2AM: HAT
M A =4
S WEE WEER IR (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMaMy Il it 22 M 22,250
- & 90& = 100,0000H 9,000
-89 55,000& = 15004 8,250
- AElA 100& = 50,0000H 5,000
OMEBHIIZ 4% - 20 (M B +
g 7,700
-EOISIRE fi &g
70,0003 * 23] x 5% 700
—HIIOIG AR 4T
70,000& = 10 = 10H 7,000
OUE HIIEMSZ HME FHIYX=
800,000& =« 12& 9,600
OHA3Dl 28 HHYX=Z  150,0008 * 123 1,800
OUgHIIE He&d Reldd ==&
110,000& * 128 1,320
02 =224l 27,720 27,324 396
OFAXE GPSEHID| T2 ME=
16,5003 = 14004 » 12& 27,720
202 oddl 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
OFazclgg 2= 4,500
203 YR =] 2,000 2,000 0
03 AIZA AR ZAY| 2,000 2,000 0
OFAANMFE HRF=IH| 2,000
207 A& H| 35,000 35,000 0
01 A2 ESHI 35,000 35,000 0
OFAASUY AJME 89
20,000,000& =« 14 20,000
OdEHII=Z =&82¢ HALM BIHES
15,000,000& * 14 15,000
301 et a3 44,010 58,680 214,670
12|24 = 44,010 58,680 A 14,670
OXNE0ISE3A SAH 457 2L
30,000& = 1630 CtX = 93 44,010
307 2201 A 18,616,734 22,291,000 A 3,674,266
05 BIZHRI & 3 18,616,734 22,291,000 A 3,674,266
OMEBMAD| £+ - 28 S B2 (BEAE
24l) 25,700,000,000& * 8/12& 17,133,334
OUEHIIE =& - 2¢E U=
721,000,000& = 141 » 75% 540,750
OZZHES s DA HER
110,000,000& * 14 110,000
OUHEHIIZ2 MeUH2(HIIE HSMHS)
183,000& = 6,500& * 70% 832,650
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25 A
Hz: 22T A XA
ool S MEHA IR (el @2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O8H % HUKXSIAIE AXBA =42
1,900,000 * 13| 1,900
OZ2SFHY RFID X220 HE 2elx=z2
800& * 130,000AMICH * 20% = 9& 187,200
OSASRHIIZ LMAMNE BI =4
70,0008 = 13 ~ 89 560
02 2=2=24%H| 22,000 22,000 0
OSAZRHIIZ2 NESXEAE FAES 22,000
-EHEE HEX L FH TSALE B
10,000,000 = 14! 10,000
- N3 HeANE SNBSS
10,000,000 = 14! 10,000
- TR HRIAE MOrF PR AFEFY I
all 2,000,000& = 1Al 2,000
207 I & 19,900 7,000 12,900
01 A2 E<H| 19,900 7,000 12,900
OSAMZFRHIIZE MlH |otdtE 29
7,000,000& = 1Al 7,000
OSAZRHIIE &M AH HE 8 9
9,900,000& = 1Al 9,900
OSAZRHIIS &M AH HE HAUEI =
o) 3,000,000& = 1Al 3,000
307 giztol A 2,240,700 2,332,000 A 91,300
05 QIZtRES 2,240,700 2,332,000 A 91,300
OSAZSZRHIIES 212HHe Helbl
125,000 = 10& = 270 337,500
OSAMZERHIIEZE NIASANE AEUH=
61,0008 * 130 * 240 1,903,200
Heass 22 2,026,037 136,006 1,890,031
101 Q124 H] 54,517 40,656 13,861
04 JI2ZtHIZ22NEE S 54 517 40,656 13,861
OMEEE 22tz 28 MESEAHWMEA oA
Hl 53,605
-Jl23 50,100 = 122 * 60 36,072
-Sas5gxE 50,100& * 129 = 13 7,816
- xRa+e 50,100 * 129 » 3 1,804
- S AH| 5,0008 » 129 x 60 3,600
-20K3 ¥ AVEHEE
49,291,200 * 8.75% 4,313
OMEBHANLA S22 2|
88,0008 » 12& = 74 672
OMEEAHMNAEA T2 (X))
20,000& = 124 240
201 et d]| 174,470 73,300 101,170
01 AFR 22| H| 66,950 44,700 22,250




SN AT
2|

M ZRTA FH
SRl BMEE MBEHY IR (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONgss, 1383, dsHJIE g2 M
150& = 5,00000 = 43 3,000
ONess8ddEd Al HEMS (AL S)
-+ 1,500& = 3,000H 4,500
O30 Zoltis LSS (MYSEX )72
400& * 20,0002 8,000
OHAMX =ZelhEs nass(HdN) 2
800& = 10,000% 8,000
OMaESE =el=Hg F*& 300,000& = 204 6,000
ONegEs Hs&s € 1=% 7Y 35,250
-MEE8 HILSS(120L) 2003 * 25,0000H 5,000
-MEE8E 12%(120%140cm)
5,500& = 5,5000H 30,250
OHE+=2 OtHHE HWSE =A==+
300,000& =« 4CH 1,200
OHE+=2 OHMA 2258 7
50,000& = 202 1,000
02 2324l 104,520 25,600 78,920
OgsHII= SS8oEYE RANEF
1,000,000 = 700 A 7,000
olNgssded 22 17,000
- HESSHEY RIES
12,000,000& * 12l 12,000
Aot ate] tMAEH JHAHI
2,500,000& * 200 £ 5,000
ONesEs dEF dJIes
6,000,000& = 123 72,000
OMEES H8F =23 410,000& = 128 4,920
OUEIIIENE f4==) dot&d dIIRk=
300,000& * 12043 3,600
03 &Ar2 I 3,000 3,000 0
OXNE=H H&ts s2F82 23
1,500,000 =+ 23l 3,000
202 oddl 3,500 3,500 0
01 = LH o4 1 3,500 3,500 0
ongsgd g2=4& 04dl  700,000& = 59 3,500
207 A RO 7,000 7,000 0
01 A7 39l 7,000 7,000 0
ONgEssdEE 29 I 89
7,000,000& = 14l 7,000
301 et a =z 1,550 1,550 0
12JIEE43 1,550 1,550 0
Ol =& 2a=3 70,000& = 158 1,050
OHIEIIEE3 0IX2 B a3
50,000& = 10A 500




25 A

Hz: 22T A XA

ool S MEHA IR CER-ED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 1,700,000 0 1,700,000
05 QIZ2tRE 2 1,700,000 0 1,700,000

OMEBEBEMEE UAe HaR
1,700,000,000& = 14! 1,700,000
401 AIEHIZL 2 0HY| 20,000 10,000 10,000
01 Al&H| 20,000 10,000 10,000
OMesE5H8EE CSAIE U & Ad 20,000
-CSAYE DH L AE dHsH
20,000,000 * 14! 20,000
405 XHAHFEIEHI 65,000 0 65,000
01 XAt 2 EF S| 65,000 0 65,000
OMsEaESHER =5 XA BH
65,000,000& * 102 65,000

HIIE 22l 205,030 14,500 190,530
201 LBt ]| 1,000 1,000 0
01 AP 22| H| 1,000 1,000 0

OHJIZE 8224 A==
100,000 * 1000 A&~ 1,000
202 o4 H| 3,500 3,500 0
01 2L HI 3,500 3,500 0
OBJIZ222 Y HR=X |
700,000 = 5 3,500
401 AIEHIZL 2 0HY| 200,530 10,000 190,530
01 Al&H| 200,530 10,000 190,530
O22¢M HII=2 Mealyl 250,000 = 40 10,000
OEXHIIS Meldl(ES2E 438 AFgH|)
190,530,000 * 14! 190,530
HII2 HelAlE 29 8,020,576 6,925,388 1,095, 188
= 500,000
& 150,000
Al 7,370,576

s 29 642,490 365,740 276,750
201 LBt 9H]| 150,740 167,740 A 17,000
01 AP 22| H| 101,740 101,740 0

OWEE EA2Y AA =42
950,000 * 2 = 4K & 7,600
OMBIE LMIA BA £22
300,0008 » 2JH A 600
OMEE BE+ S +TAN 42
350,0008 * 343| 11,900
ONNga dIjertd e =
200,000 = 2004 + 12& 4,800




SA: HAD
Hm: 22

A=A
el HIIE XMelAd 29 (&)
= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O ® BeNea 2okl 242
110,000& = 128 * 200 L 2,640
ONEE BYUSX UXE ZHHI +42
2,500,000& * 20 Xl 5,000
O & d&=+Held 2el2d A28 +
2 3,000,000& = 14 3,000
O==&dA =4 2 3,000& = 4004 1,200
ONgd HALX AXZ (192X, 48,976 )
65,000,000& * 14l 65,000
02 =224l 49,000 66,000 A 17,000
ONE & KAt 10,000,000& * 14 10,000
OMEE ®Jl 2 445 23
3,250,000& * 12& 39,000
206 M= Hl 3,000 3,000 0
01 =8l 3,000 3,000 0
OB&ELHMelAE 42 ¢ 3,000
207 A O H| 60,000 0 60,000
01 289 60,000 0 60,000
Ot HEHE MESE FHEZISEI 249
60,000,000& * 14l 60,000
307 glz2tol & 113,750 145,000 A 31,250
05 RIZHRI &t 3 113,750 145,000 A 31,250
OZZHIIZ AL 22HA=
100,000,000& * 141 = 80% 80,000
O&&4+ HMelAlE 22Uz
45,000,000& * 14! = 3/4&2 70| 33,750
308 XXM SO0 A 180,000 0 180,000
11IIEIRES 180,000 0 180,000
OMEHIIZ2 e M=2RES
12,000,000kg * 15& 180,000
401 Al HI & 28I 135,000 50,000 85,000
01 A& Bl 135,000 50,000 85,000
Ox MIMEH == Mel¥ EAHSAM
50,000,000& =« 14 50,000
O 2els LHSA
5,000,000& = 14 5,000
OSZHE HMISSH AEHE SM 80,000
-0ls4 St&EA AX 80,000,000& =« 14 80,000
22HANE 23 5,967,842 6,559,648 A 591,806
101 @124l 73,669 66,908 6,761
M4 II2HZ2Z2NSES 73,669 66,908 6,761
OL2ZHAIE FOZAIR 21| 73,669
-Jl2= 66,800 * 2% * 249 33,267




EA: A0
Hu: ZRCAl X4
e J2 HMelAlE &4 e ®H)
% S 4 14
S EH B (3H) - NRAY - B gﬁ‘&i HR=2
=N 5,000& * 29 * 312¢ 3,120
-5 66,800 * 29 VeSS 6,948
—AXE 66,800 * 2¥H x 12&€ 1,604
-RYzEeLY 100,2008 » 2% » 642 12,826
- X224 12,520 * 2¥ * 208Al 2t 5,209
-4} BEg€ = 62,970,720 * 8.75% 5,510
-g&3 2,592,460 * 29Y 5,185
201 LBt Y| 1,080 1,640 A 560
01 AP 22| H| 840 1,400 A 560
OAZAE ZOINAIISZ 28RS AR
P 70,000 33| * 49 840
02 32%H| 240 240 0
OFEHAHE SRS 20,000& = 12&€ 240
202 04| 2,800 2,100 700
01 2Ll 2,800 2,100 700
OFAMANEEE 2K |
700,000 = 4H 2,800
207 I | 22,000 7,000 15,000
01 | 22,000 7,000 15,000
O22ANE FHHANASIA S
22,000,000 = 14! 22,000
307 2Iz2t0| & 4,633,418 5,000,000 A\ 366,582
05 QIZt9 &2 4,633,418 5,000,000 A\ 366,582
OA2AE A2 512,602,000& = 9& 4,613,418
OJHAHdHIIZE2 2 Xel SEtH|
20,000 = 1,000 20,000
308 XHXIGHH SO0l & ,234 ,875 1,482,000 A 247,125
07 AXSHHZ2ES S , 109,250 1,482,000 AN372,750
OJted Holg2 Z29Hdel =2
87,000 = 17,000&€ * 9/12€& , 109,250
11 J|EIEY =2 125,625 0 125,625
OMBHIIZ 22 HERLD
50,250,000kg * 10& = 25% 125,625
TEANHKNEIS ZLAY ,000,000 0 1,000,000
= 500,000
& 150,000
Al 350,000
403 XX SHS K20| & ,000,000 0 1,000,000
= 500,000
& 150,000
Al 350,000
02 BI2SOHUSAE2EAEAIE Y ,000,000 0 1,000,000
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SH: BAD
HE: HYRIFU(HAD)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 RIAHL*ZZXHE 257,347 277,661 N20,314
OS=HEIHEJ 212 242 955
-JE2 1,814,120 = 7%  12& 152,387
- WEB XY 130,000& * 7H x 128 10,920
L E 130,0008 » 7% » 128 10,920
~ N2tel &g
14,886% * 20Al2F =~ 7 x 12&€ 25,009
-2 A= 9,024 * 8AIZ2F » 7Y x 7H 3,891
===l 1,814,120& = 78 x 120% 15,239
-JIE4Y 60,000& * 7 = 128 5,040
—-S2EZ2 (A, D2 M)
223,406,000 = 8.75% 19,549
O=HYHEIHEA E22 S|
8,000& * 441 x 18H x 128 6,912
O=8EI|e:d I 6,480
-== 150,000 * 18"™ 2,700
ot= 100,000 = 18H 1,800
-9 20,000& = 18Y 360
—OtM (& A B}) 50,000& = 18Y 900
— OFM X)) 20,000& = 18Y 360
—OtN 2 20,0008  18%H 360
OaHlY 2 & 24 52 HXH|
1,000,000 * 14! 1,000
PIEE-T 88,820 85,550 3,270
Jl2 &34l 88,820 85,550 3,270
201 LBt 9| 24,800 24,410 390
01 AP 22| H| 24,800 24,410 390
OJlsM2aEE 2L 10,200
OJ|Et =2H| 300,0008 = 12& 3,600
oozt & 222X 24|
550,000& = 20¥H 11,000
202 o4 | 57,600 54,720 2,880
01 2L I 57,600 54,720 2,880
Ol 2 JIsge=80dl
240,000& * 208 * 128 57,600
203 R F & 5,220 5,220 0
04 FEASHEYRFEAH| 5,220 5,220 0
OEMSY g4l 435,000& *~ 12& 5,220
204 &R 4= A H| 1,200 1,200 0
01 MEEZAHR2LHAY| 1,200 1,200 0
OWE Mo HARLHAYH| 100,000& * 12& 1,200
WREs(HAD 800,000 800,000 0




A =
HH: WRES(HA)

el WRAHAHXS

= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
HEAHHX = 800,000 800,000
s &= 800,000 800,000
702 JIS3HES 800,000 800,000
(O RPIE=RSE-<3= 800,000 800,000

OZHAlxZAlE =EHSASXS FUXE JI=

800,000,000& = 14 800,000
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